T2 3EEEBENTERENN (2ELE2 0XE)

E {1 XIE# ZBE TR A Bl EYI X RIF
Fi& %
1 A FER 6,209 111.5
2 BE eI 6,152 101.4
3 HES BIR#D 6,048 98.9
4 BE BIRER 5,785 99.8
5 JEE i =R 5,651 121.3
6 F N NS 5 565 98.0
7 Kiz HER 5,455 108. 1
8 FIF EER 5,430 100.2
9 N1 KBR T 5,294 97.2
10 g rE=J = 5,271 100.3
11 E =2 FEER 5,223 100.8
12 £R BIINE 5,191 96.9
13 IEW:]| dtimE 4,962 98.9
14 =B =RE 4,884 104.7
15 I\E NS 4,865 98.0
16 i FEER 4,862 108.1
17 2rh KBR T 4,849 97.3
18 25 BRIRED 4,831 98.6
19 fif] 1 AR 4,804 100.3
20 oI fMILE 4,803 99.4
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